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LRBnG, EEHM)EJZ URVASR

vill) fEE®D [m],[n] € Z) =, IZx LT
[m]-[n] = [m-n]
= [n-m)]
= [m]-[n]

LR DING, FIED WAL Y ST,
i)~viii) 225, (Z) =p,+, ) TR TH 5.
(3) Bp:Z—~2Z/=, %
EEDn e ZI1ZX LT, p(n) = [n].
LERTDH. ZDOLE, AEEDO mn e ZITK LT,
p(m+n) = [m+n] =[m]+[n] = p(m) + ¢(n),
p(m-n) = [m-n] =[m]-[n] = p(m) - p(n),
DRI, p TR THL. Thbb, (Z2) =), +,) 1T (Z,+, ) ICERTH 5.
(4) B¥p:Z—Z, %
fEED n e Z1Zx LT, p(n) =mod (n,p).
LERTDH. Z0LE, FEDOmne ZITXLT,
o(m+n) =mod (m+n,p) =m+n (mod p).

—J7, o(m) +p p(n) = mod (m,p) +p mod (n,p) = mod (m,p) + mod (n,p) (mod p).
mod (m,p) = m (mod p), mod (n,p) =n (mod p) 7215, p(m) +, ¢(n) =m + n (mod p).

P, p(m+n) = o(m) +, ¢(n) (mod p).
p(m +n), o(m) +p p(n) € Zy 2025, e(m +n) = e(m) +5 ¢(n).
FIERIC, o(m - n) = o(m) -p p(n).
DRI, o TR TH LS. TR0 5, (Zy, +p,p) 1T (Z,+, ) ITHERTH S.
(1) fEE®D [m],[n] € Z) =, IZK LT,
([m] + [n]) = p([m + n]) = [2(m +n)] = [2m + 2n] = [2m] + [2n] = ¢([m]) + ¢([n]).
DRI,  IFHERLTH D,

(2) 1) ¢([0]) =[2-0] = 0],
e([1]) =[2-1] = [2],
o([2]) =[2-2] = [4],
o([3]) = [2-3] = [6] = [0],
o([4]) =[2-4] = [8] = [2],
o([5]) = [2- 5] = [10] = [4].
o= | O [ R[] 4 DBl
0] [2] [ [0o] [2] [4]
ii) 1) 225, image(p) = {[0], [2], [4]}.
i) Z/ =¢ AL TTIE [0]

725, 1) 25, kernel(p) = {[0], [3]}.
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